Objection to Real Property Assessment

To file an appeal on your property assessment, you must provide the Board of Review (BOR) clerk withen or oral notice of your intent understate law (sec. 70.47(7)(a), Wis. Stats.). You must also complete this entire form and submit it to your municipal clerk. To review the be evidence of property value, see the Wisconsin Department Revenue's Guide for Property Owner.

evidence of property value, see the Wis Complete all sections:				U U	JUN -	2025	
Section 1: Property Owner / Agent Information			TO DESCRIPTION OF THE PROPERTY OF THE PERSON	t written authorizati	on (Form	A-105) with thi	s form
Property owner name (on changed assessment notice)			Agent name (if applicable)				
Jeffrey Hauswirth							
Owner mailing address 1105 River Place Blvd			Agent mailing address				
City	State	Zip	City		State	Zip	
Waukesha	WI	53189					
Owner phone Email	<u> </u>		Owner phone	Email	!		
<u>` </u>		gmail.com	()				
Section 2: Assessment Informatio	n and (Opinion of Value					
Property address			Legal description or	oarcel no. (on changed a	ssessment no	itice)	
1105 River Place Blvd	Chaha	71	 1377.027.	000			
Clty Waukesha	State WI	Zip 53189	1077027				
Assessment shown on notice - Total] MT	33169	Your opinion of asses	sed value – Total			
\$ 516	,300		Your opinion of assessed value – Total \$ 420,000				
If this property contains non-market val	uo class	acroago provido vos	r oninian of the tay	able value breakder			
	ue class			· · · · · · · · · · · · · · · · · · ·		Full Tavable V	la luca
Statutory Class		Acres	\$ Per Acre			Full Taxable Value	
Residential total market value							
Commercial total market value		1 13 15 15 15 15 15 15				-6	
Agricultural classification: # of tillable a	cres		@ \$a	cre use value			
# of pasture	acres		@ \$ a	@ \$ acre use value			
# of specialty	/ acres		@ \$a	cre use value			
Undeveloped classification # of acres			@ \$ a	cre @ 50% of market	value		
Agricultural forest classification # of acre	<u> </u>		@ \$a	cre @ 50% of market	value		
Forest classification # of acres			@ \$ a	cre @ market value			
Class 7 "Other" total market value			ma	rket value			
Managed forest land acres				cre @ 50% of market	value		
Managed forest land acres				cre @ market value	value		
Section 3: Reason for Objection a	nd Doo	is of Estimate	3 4	cre @ market value			
Reason(s) for your objection: (Attach addition			Dagle for your anini	on of occasional values	(Assault and a	listan at abanca if v	andad)
·				on of assessed value:			ieeaea)
Price per sq ft (PPSF) in top sales (see attached)	3% OI	2024 residential		and similar si: #360 (see attac		sales in	
Section 4: Other Property Inform	ation					To the second	
A. Within the last 10 years, did you acq	uire the	property?				Yes	⊠ No
If Yes, provide acquisition price \$				Purchase Tra			eritance
			(mm-dd-vyyy)	_			
B. Within the last 10 years, did you cha	nge this	property (ex: remod	el, addition)?	• • • • • • • • • • • • • • • • • • • •		Yes	X No
If Yes, describe							
Date of Cost of							—
changes changes :	\$	Does this o	cost include the value	of all labor (including	your own)?	∐ No
C. Within the last five years, was this p	onerty	listed/offered for sale	27			Yes	X No
If Yes, how long was the property lis							<u>/ </u>
		(mm-dd-y)	yyy) to to	d-yyyy)			
Asking price \$		List all offers receive	d				
D. Within the last five years, was this p	operty	appraised?				Yes Yes	X No
If Yes, provide: Date	· · · ·	Value	Purpose of app	raisal			
If this property had more than one a	opraisal,	provide the requeste	d information for ea	ch appraisal			
Section 5: BOR Hearing Informati	on					P	
A. If you are requesting that a BOR men Note: This does not apply in first or sec	mber(s)	be removed from you	ur hearing, provide t				
R Provide a reasonable estimate of the			t the hearing	10 minutes			

PA-115A (R. 10-22)

Property owner or Agent signature

Wisconsin Department of Revenue

6- 3 -2025

Date (mm-dd-yyyy)

CITY OF WAUKESHA 2025 ASSESSMENT YEAR

Notice of Intent to File Objection with Board of Review

I,Jeffrey Hauswirth	(insert name) a	as the property owner o	r as agent for
	(insert propert	y owner's name or stri	e) with an address of
1105 River Place Blvd hereby give notice	of intent to file an o	bjection on the assessm	ent for the following
property: <u>1105 River Place Blvd</u> (ir	sert address of subje	ect property) with the p	arcel or tax ID number
WAKC 1377027 (291-1377-027-000)	for the 2025 A	ssessment Year in the C	City of Waukesha.
Contact Information: Phone Number 262-3	70-4773 Fax Numbei	<u> (na)</u>	
THIS NOTICE OF INTENT IS BEING FILED:	(please mark one)		
 At least 48 hours before the Board's first During the first two hours of the Board's Up to the end of the fifth day of the sest less than five days (please complete Se 	s first scheduled meession or up to the end	eting (please complete S	
FILING OF THIS FORM DOES NOT RELIEVE COMPLETED WRITTEN OBJECTION ON THE			
Jeffrey Hauswirth (s	igned) if WRITTEN	Received by:	
6/3/2025	late)	Check here if ORAL	On (date):
Section A: The Board of Review shall grant objection if a property owner who does not first two hours of the meeting, SHOWS GOO REQUIREMENT AND FILES A WRITTEN OBJ	meet the notice request on CAUSE FOR FAILS	uirement appears before JRE TO MEET THE 48-H	e the Board during the
Section B: The Board of Review may waive fails to provide written or oral notice of an it to request a waiver of the notice requireme appears before the Board at any time up to day of the session if the session is less than EVIDENCE OF EXTRAORDINARY CIRCUMST	intent to object 48 ho ent during the first two the end of the fifth n five days, and FILES	ours before the first sch to hours of the meeting day of the session or up S A WRITTEN OBJECTION	eduled meeting, and fails , if the property owner o to the end of the final DN AND PROVIDES

Jeffrey Hauswirth 1105 River Place Blvd Waukesha, WI 53189 262-370-4773 jeffhaus1968@gmail.com

Date: June 3, 2025

City Assessor's Office City of Waukesha 201 Delafield Street Waukesha, WI 53188

Subject: Request for Review of 2025 Property Assessment – 1105 River Place Blvd

Dear Assessor,

I am writing to formally appeal the 2025 assessed value of my property located at 1105 River Place Blvd which has been increased from \$416,400 to \$516,300. I believe this new assessment exceeds the fair market value of my home based on comparable 2024 and 2025 home sales in my neighborhood (# 360, excluding condominiums) and their related price per square foot (PPSF).

Below is a summary of relevant comparable sales from my neighborhood in 2024 and 2025:

Address	Sale Price	Sq Ft	PPSF	Sale Date	Year Built	Notes
918 River Park Dr	\$522,500	1,819	\$287.23	Mar 10, 2025	2004	3 beds, 2 baths
938 River Hill Dr	\$460,000	1,806	\$254.66	Apr 19, 2024	2003	3 beds, 2.5 baths
1216 River Place Blvd	\$425,000	1,812	\$234.49	May 31, 2024	1993	3 beds, 2 baths
1012 River Hill Dr	\$419,900	1,988	\$211.11	Sep 1, 2024	2000	3 beds, 3 baths
923 Parkton Dr	\$540,000	2,681	\$201.37	Jan 16, 2025	2002	4 beds, 3.5 baths
917 Valley Hill Dr	\$540,000	2,681	\$201.37	Jan 16, 2025	2003	4 beds, 3.5 baths
1280 River Place Blvd	\$438,000	2,294	\$190.94	Jul 9, 2024	1994	3 beds, 2 baths
1121 Dana Ln	\$620,000	3,263	\$190.00	May 16, 2025	2000	4 beds, 4.5 baths
1008 Parkton Dr	\$485,000	2,556	\$189.74	Jul 26, 2024	2002	4 beds, 3 baths
933 Parkton Dr	\$460,000	2,698	\$170.46	Nov 14, 2024	2002	3 beds, 3 baths

Price per Square Foot (PPSF) Analysis

Average PPSF: \$213.14
Median PPSF: \$201.37
Range: \$170.46 - \$287.23

My home is one of the smallest in the neighborhood at 1,641 square feet with 3 beds and 2 baths. Using the revised assessment of \$516,300, my price per square foot (PPSF) is \$314.63, well above that of any sold in by neighborhood during this timeframe. Based on the data

included in the "2024 Residential Improved Sales" file located on the waukesha-wi.gov site, this puts my property's PPSF ratio higher than 97% of the residential properties sold during 2024.

Applying the average PPSF of \$213.14 to my home's 1,641 square feet suggests a market value of approximately \$349,763.

Requested Adjustment

Given this market-based analysis, I respectfully request that the assessed value of my home be reduced to better align with its market value along with a more reasonable PPSF. A revised assessed value of \$420,000 would be consistent with the actual market performance of home sales with smaller square footage in my neighborhood, while still yielding a very high PPSF of \$255.94 relative to surrounding homes.

Thank you for your time and consideration. I would welcome the opportunity to discuss this further or provide additional documentation if needed.

Sincerely, Jeffrey Hauswirth